Teaching Tips

Chapter 1 Economics and the economy

Key Points 

This chapter introduces the topic of economics. The key learning outcomes are an understanding of: 

· Economics is the study of how society resolves the problem of scarcity

· ways in which society decides what, how and for whom to produce

· the concept of opportunity cost

· positive and normative economics

· microeconomics and macroeconomics

These are the topics to focus on. 

Outline
A subject which interests everyone

The chapter begins by outlining the essence of how a study of economics helps a society decide what, how and for whom to produce goods and/or services. The chapter continues by referring to the 2007 financial crisis and then oil prices. These case studies help illustrate how societies decide what, how and for whom to produce.  Everyone is interested in these two issues. The graphs in Figures 1.1-1.3 illustrate different aspects of the crisis. These are covered in much more detail later in other chapters. But both the graphs here and relating to oil illustrate to the student how economists work with and try and interpret data.

The OPEC oil shocks of the 1970s are used as examples of how scarcity, as well as price, impacts on planned resource use. Useful discussion could centre on what reverberations have the previous oil crisis had on the lives of students. Some modern student residences now use solar heating (perhaps designed by their own university’s engineering department). Would the use of solar panels and energy saving devices have entered the economy as quickly had it not been for the impact of OPEC action? 

The chapter then continues to help delineate economics as a different discipline from others in the social sciences by introducing the topic of inequalities in worldwide income distribution and asks the pertinent question, why is it that some countries are so rich and others so poor? 

Developing a graphical exposition of scarcity

The Production Possibility Frontier (PPF) is an important diagram in economics. Diagrams help us understand a complex world. They do so by simplifying that world. In the case of the PPF diagram it limits goods to just two, in the book, films and food. This is valid and useful as long as it helps us understand the real world. But students must always realise that economic theories (or models) – and that is what diagrams are – are simplifications of the real world, based on certain assumptions. 

In discussing the PPF, we need to talk through the concepts of opportunity cost and of diminishing returns. It is important to explain diminishing returns fully, as it later becomes a key concept when we deal with costs.  Although it has become practice to issue OHPs / PowerPoints of diagrams before lectures, it is worthwhile getting all students to construct this graph in the lecture with you as you talk through it. 

Once you believe students have mastered the concepts and the diagram you can perhaps contrast the slightly different example of constant opportunity costs (illustrating this by the example of production choice between left-hand drive or right-hand drive cars). Ask the students to think what the diagram would look like (perhaps this can be set as a small exercise for a seminar). Similarly, talk to them about decreasing opportunity costs (i.e. where mass production/increasing use of technology would allow a concave PPF to be constructed). Ask them again to think about how the diagram would look. In this manner the student learns to work from the conceptual issue, which may exist in real life and then goes on to construct this diagrammatically – a very important approach in allowing a real understanding of economics as a discipline. 

Before leaving this section it will help to introduce the concept of absolute and comparative advantage. In addition to exploring the idea that opportunity cost can provide a reason why individuals trade, and be mutually beneficial, it paves the way for a deeper understanding of the benefits of international trade discussed in detail later in the course.

Allocating scarce resources

Having grasped the concept of scarcity and opportunity cost, we can now gently bring in the issue of how allocation choices can be undertaken. Should outcomes be planned by some sort of command mechanism, or should prices and ability to pay dictate outcomes? In OECD countries this is largely done through the market. The alternative is the command economy, here the concept of the indivisible hand is an important one for students to grasp. Return to the price of oil. It is a scarce resource in great demand, particularly with the growth of India and China. Given this, its use needs to be rationed. The market does this with the invisible hand. As demand increases and supply is fixed so price rises. People start to try to economise on their use of petrol and energy, use public transport, drive smaller cars, avoid the rush hour. Entrepreneurs try to develop new energy sources, enormous efforts are made to develop an electric car. No one told consumers to cut back. No one told entrepreneurs to develop new products. It is the invisible hand of the market economy at work. 

The examples given in this chapter about hospital beds and McDonalds are also useful examples of the role of the market and may be something students can relate to from their own experience.

It may well be useful to talk briefly to your students about the use of models. Economists construct models to help illustrate concepts. These models may not actually exist in pure form anywhere, but their exposition may help in grasping processes and economic mechanisms. Please make sure to stress to students the simplification involved with all models – our long-term aim is for students not only to understand the textbook model of the world but also its reality and how it works in practice. However, models are a very good starting point.

In presenting the free market and command economy models, before introducing the mixed economy, it may be worth mentioning again the schematic nature of this approach. No economy in the modern world illustrates the total command economy or the totally free market. All but a few economies in the industrialised world are mixed –today’s norm, although the degree of government involvement varies greatly. This approach allows us better to bring in the concept of market failure later in the course.

Before closing the chapter looks at positive and normative economics and the distinction between micro and macroeconomics. Both are fundamental to the rest of the course. The chapters first explore microeconomic issues and then macroeconomic ones. It is important at the outset they understand the difference and how the one informs the other.  

Additional issues to consider
Opportunity Cost 

Ask your students to think of the opportunity cost of attending your lectures. If one lecture is at 9am on Monday morning, then perhaps the alternatives your students have are staying in bed or watching breakfast TV. Your second lecture is on Friday at 4pm. Perhaps the alternatives for your students in that instance are going early to the student bar, or going shopping for a party that’s planned for the weekend.

Ask the students to tell you the sum total of the opportunity cost of attending your lectures in the one week. (Of course the right answer is not the four alternatives added together, but only two - or possibly three, if on a Monday morning a student can combine staying in bed and watching breakfast TV!). The opportunity cost is the next best alternative, which would have been carried out had lectures not been attended. Some, of course, are alternatives to each other and can’t both be done – like going to a bar and going shopping.

TIP: Trade-offs and choices

“There is no such thing as a free lunch” and it is worth pointing out at this early stage that making decisions and choices requires trading off one goal for another.

Get students to give you examples of how they choose to spend their time, their money, how their families choose to spend their incomes, how governments spend the money they raise from taxation, how regulations might protect the environment at a cost to the owners of firms

A good example of a trade off would be the trade off between efficiency and equity 
a) Definition of efficiency:- achieved when each good is produced at minimum cost and where individual people and firms get the maximum benefit from their resources

b) Definition of equity:- achieved when income is distributed in a way that is considered fair or just. Remember that different people have different views on what is equitable

c) It might be the case where tax paid by the wealthy members of society is distributed to those less fortunate and this can be seen as improving equity – but this may lower the return to hard work and therefore reduce the level of output produced in society

d) This then implies that the cost of this increased equity is a reduction in the efficient use of resources

TIP: The [opportunity] cost of something is what you have to give up to get it
 Discuss with the students decisions they have to make which require them to consider the benefits and costs of particular courses of action – buying this text book; going out for a meal; buying a new outfit. Or, what are the costs of going to university
a) It would be wrong to count room and board (at least not all of it) because students would have to pay for food and shelter even if they were not in university

b) You would have to count the value of the students’ time since they could be working for pay instead of attending classes and/or studying

Give students a working definition of opportunity cost:- the cost of any activity measured in terms of the best alternative option which has to be given up (forgone)

FINAL THOUGHT:  People and firms respond to incentives

Because people, firms and governments make decisions by weighing up costs and benefits, their decisions may change in response to changes in those costs and benefits
a) When the price of a good rises, consumers will buy less of it because its cost has risen

b) When the price of a good rises, producers will allocate more resources to the production of the good because the benefit from producing the good will increase

Sometimes policymakers fail to understand how policies may alter incentives and subsequent behaviour. For example, the seat belt law introduced in 1983 increased the use of seat belts and lowered the incentive for individuals to drive safely. This led to an increase in the number of car accidents as well as in an increased risk to pedestrians.
Tutorial Exercises
These are largely based on the questions at the end of the chapter. It is likely students will already have, quite properly, their own opinions on many of these issues but do bear in mind their judgements should be based on a knowledge of positive and normative viewpoints. Sorting the verifiable from the judgemental is another procedure which economics will help students develop.

Questions 

1. Which of the following statements are positive, and which are normative? (a) Annual inflation is below 2 per cent. (b) Because inflation is low the government should cut taxes. (c) Income is higher in the UK than in Poland. (d) Brits are happier than Poles. 

TIP: (a) and (c) are positive and (b) and (d) normative. However, attempts are being made at measuring happiness and one day (d) could become a positive statement. 
2. Which statements refer to microeconomics, which to macroeconomics? (a) Inflation is lower than in the 1980s. (b) Food prices fell this month. (c) Good weather means a good harvest. (d) Unemployment in London is below the UK average.

TIP: (a) and (d) are macro and (b) and (c) micro.

3. OPEC made a fortune for its members by organizing production cutbacks and forcing up prices. (a) Why have coffee producers not managed to do the same? (b) Could UK textile firms force up textile prices by cutting back UK textile production?

TIP: In order to be able to do this, OPEC had to have substantial control of the market. In the 1970s it was the major producer. Since then alternative sources have come onto the market. But OPEC has been assisted in its bid to keep prices high by rising world demand, fuelled by the rapid growth of China and India. 

Coffee producers are spread across a wider number of countries spread across the word and getting agreement of such a diverse group is difficult. It is also probably more difficult to monitor production on a large number of firms and hence cheating on any agreement more feasible. But there is an international coffee organization the students should look at: http://www.ico.org/ 

The UK could force up textile prices, but only if the government imposed protectionist measures protecting UK producers. This would be against WTO rules and also contrary to membership of the EU. Given that UK firms produce only a small amount of world output, any cut back in supply would have a minimal impact on world prices and, with free trade, on UK prices too.

Additional question

What will happen to the price of petrol in the next two years? 

TIP: This seems likely to be a question of interest for several years. Prices are likely to rise or at least remain at a high level, a key reason being the rapidly increased demand particularly from Asia. Although new oil reserves are being discovered, others are in decline. The tax on petrol is also quite high, partially as it is a convenient source of revenue and partly because of environmental concerns. 
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